Barstools

1 of 7



Assembly Instructions

* Please read carefully all instructions before assemblance.
* For your safety and ease,assembly two or more adults is recommended.

* Please remain these instructions for future reference.

Cx1

Ax1
Seat Plate Left Metal Frame

i~

Dx2 Ex2 Fx8
Metal Tubes Bolts M8*16mm Bolts M6*25mm

(o (o

Gx1
Allen Wrench

[~

20f7



Step 1: Unpack and place out all the pieces on a clean, non-marring surface.

Step 2: Attach the Left Metal Frame(B) to the Right Metal Frame(C) by using two
M8*16mm Bolts(E). Use the provided Allen Wrench(G) to tighten them semi-
completely and semi-firmly by now.

= €
3. L/

" \

3of7



Step 3: Attach the Metal Tubes(D) to Metal frame(B&C), and secure them by
using four M6*25mm Bolts(F). Tighten them semi-completely and semi-firmly
by now with the Allen Wrench(G).

4 of 7



Step 4: After the six Bolts(E&F) being attached, tighten them fully and
completely by using the Allen Wrench(G).

/
v

5o0f 7



Step 5: Make sure the metal frame(B&C&D) is sturdy and stable, and turn the
frame upside down.

Step 6: Attach the metal frame(B&C&D) to Seat Plate(A) using four M6*25mm
Bolts(F), and screw them semi-completely and semi-firmly by now with Allen
Wrench(G). Once all four M6*25mm Bolts(F) been installed, then tighten them
fully and completely with Allen Wrench(G).

v Ammm'““'ﬁ

6 of 7



Turn up the barstool and it is ready for use.
Enjoy your new barstool!

7 0of7



